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Q1) Answer any two parts of the following : [2 × 5 = 10]

a) Draw the block diagram of PLC and explain the function of each block.

b) Write the advantages of PLC over electromagnetic relays.

c) Explain, how does a counter function in PLC programming.

Q2) Answer any two parts of the following : [2 × 5 = 10]

a) Explain, how does a sequencer instruction work in PLC programming.

b) Define PLC programming and write which programming languages are commonly used in PLC.

c) Write the role of a timer in PLC programming.

Q3) Answer any two parts of the following : [2 × 5 = 10]

a) Explain and draw the pin diagram of 8051 microcontroller.

b) Briefly explain the interrupts instruction of 8051 microcontroller.

c) Explain the memory structure of 8051 microcontroller.

Q4) Answer any two parts of the following : [2 × 5 = 10]

a) Draw and explain the interfacing circuit of LCD with microcontroller.

b) Write the main features of PIC microcontroller.

c) Comparison between compiler and assembler.

Q5) Answer any two parts of the following : [2 × 5 = 10]

a) Define SCADA and explain its role in dispatch centre.

b) Explain the function of operator consoler and VDUs in SCADA.

c) Write a short note on RTU.

Time : 2:30 Hours] [Maximum Marks : 50
[Minimum Marks : 17

NOTES :
i) Attempt all questions.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)

ZmoQ> :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : g^r àíZ A{Zdm¶© h¡&

à.à.à.à.à.1) {ZåZ{b{IV ‘|o go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE & [2 × 5 = 10]

A) nrEbgr H$m ãbm°H$ AmaoI ~ZmBE Am¡a BgHo$ ãbm°H$m| Ho$ H$m¶© g‘PmBE&

~) {dÚwV Mwå~H$s¶ [abo H$s VwbZm ‘| nrEbgr Ho$ bm^ {b{IE&

g) nrEbgr àmoJ«mq‘J ‘| H$mC§Q>a H¡$go H$m¶© H$aVm h¡, ~VmBE&

à.à.à.à.à.2) {ZåZ{b{IV ‘|o go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE & [2 × 5 = 10]

A) nrEbgr àmoJ«mq‘J ‘| gr³d|ga AZwXoe H¡$go H$m¶© H$aVm h¡ ~VmBE&

~) nrEbgr àmoJ«mq‘J H$mo n[a^m{fV H$a| Am¡a {bI| H$s nrEbgr ‘| Am‘Vm¡a na H$m¡Z gr àmoJ«m[‘§J ^mfm H$m Cn¶moJ {H$¶m OmVm h¡?

g) nrEbgr àmoJ«mq‘J ‘| Q>mB‘a H$s ^y{‘H$m {bI|&

à.à.à.à.à.3) {ZåZ{b{IV ‘|o go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE & [2 × 5 = 10]

A) 8051 ‘mBH«$moH§$Q´>moba H$m {nZ AmaoI ~ZmH$a g‘PmBE&

~) 8051 ‘mBH«$moH§$Q´>moba Ho$ B§Q>aßQ> {ZX}e H$mo g§jon ‘| g‘PmBE&

g) 8051 ‘mBH«$moH§$Q´>moba H$s ‘o‘moar g§aMZm H$s ì¶m»¶m H$a|&

à.à.à.à.à.4) {ZåZ{b{IV ‘|o go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE & [2 × 5 = 10]

A) ‘mBH«$moH§$Q´>moba Ho$ gmW EbgrS>r H$m B§Q>a’o$qgJ g{H©$Q> ~ZmBE Am¡a g‘PmBE&

~) PIC ‘mBH«$moH§$Q´>moba H$s {deofVmE± {b{IE&

g) H§$nmBba Am¡a Ag|~ba Ho$ ~rM VwbZm H$a|&

à.à.à.à.à.5) {ZåZ{b{IV ‘|o go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE & [2 × 5 = 10]

A) SCADA H$mo n[a^m{fV H$a| Am¡a àofU H|$Ð ‘| BgH$s ^y{‘H$m H$mo ñnï> H$a|&

~) SCADA ‘| Am°naoQ>a H§$gmob Am¡a VDU Ho$ H$m¶© H$mo g‘PmBE&

g) AmaQ>r¶y na EH$ g§{já {Q>ßnUr {bI|&
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